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Which of the following statement regarding

Ruma Devi is not true?

(1) She is known in the field of Handicrafts.

~ (2) She was brought-up in the village Jasrapur
(Khetari).

(3) She was felicitated with ‘Nari Shakti Award’
by the President of India in 2018.

(4) She played a major role in providing
employment to Thousands of Woman.

The Saints named Bakhnaji, Sant Das Ji,
Jagannath Das and Madho Das were associated
with which of the following Sect?

(1) Dadu Panth (2) Laldasi Sect

(3) Jasnathi Sect (4) Ramsnehi Sect

Match list-T with list-Il and choose the correct
answer from the code given below -
List-I
(Festival)
(A) Kajli Teej of Bundi
(B) Holi
(C) Paryushan Parva
(D) Gangaur
List—II
(Date/Month of celebration)
(i) The third of Bhadrapad Krishna
(ii) Full moon day of Phalgun
(iii) Bhadrapad Month
(iv) Chaitra Month
Code -

(1) A-(i), B-(ii), C-(iv), D-(iii)
(2) A-(i), B-(ii), C-(iii), D-(iv)
(3) A-(iii), B-(iv), C-(i), D-(ii)
(4) A-(iv), B-(iii), C-(ii), D-(i)

Which of the following Doctrines are associated
with Jainism?

(i) Anekantavada (ii) Sarvastivada

(iii) Sunyavada (iv) Syadvada

Select the correct answer using the code given
below-

(1) (i) and (iv)

(3) (@), (it) and (iit)

(2) (i) and (iv)
(4) (ii) and (iii)

S 4l & IR § 9§ A B s w9l
8 87
(1) 3% TRy & &3 ¥ 91 oar 2
(2 T FTEIR (@) Tia F vl — |
(3) I IRA & WUY FRT 2018 A AR ARk
RPN | aHIa fear
(4) SN TORI AT P SRR Ie@T
# ared Arfler) A | ,
YIS, IS off, ST 319 3R Al
A Hdl BT ey AEfafad § ¥ g e
T T or?
(1) TIg g (2) STeTeT wWer
@) THIRl TRRE (4) WSS 9uel
a1 T8 -1 &1 gafera g aen 9
R T e 7 3w R g -
-1
(ErR)
(A) T DI FHorelt o
(B) eIl
(€). w9 9
(D) TOER
hicim !
(Sea ot il /=)
() WIS, FOT Jarar
(i) I gper
(i) ¥Is9s AE
(Av)yn 37 T8
? o
(1) A-(i), B-(ii), C4(iv), D-(iii)
(2) A-(i), B-(ii), C-(iii), D-(iv)
(3) A-(iii), B-(iv), C-(i), D-(ii)
(4) A-(iv), B-(iii), C-(ii), D-(i)
FafoRaa § @ @9 — @9 ¥ Rigia o o

I wdfeg 87

@) IFHrIArE (i) wdRdgare

(iii) TFaTg (iv) wTeag

e R ™ e T SWRT W G W
T —

(1) () ©F (iv)
() (), (i) Ta (i)

(2) (i) 7T (iv)
(4) (ii) 9 (i)
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5.

What is ‘Aanau’ in social customs and traditions
of Rajasthan?
(1) Well worship
(2) Going to see the bridegroom’s wedding place
by bride’s family
(3) After marriage sending bride to her in-law’s
house for the second time

(4) Worship of Jal Jhulni Ekadashi
Match list-I with list-II and choose the correct
answer from the code given below -

List-1
(A) Howrah Conspiracy. case
(B) Lahore Conspiracy case
(C) Delhi Conspiracy case
(D) Alipore Conspiracy case

List-II
(i) Master Ami Chand (Amir Chand)
(i1) Arvind Ghosh
(ii1) Jatindranath Mukherjee
(iv) Rajguru
Code -

(1) A-(iv), B-(iii), C-(ii), D-(i)
(2) A-(i), B~(ii), C-(iii), D~(iv)
(3) A-(iii), B-(iv), C-(i), D-(ii)
(4) A-(ii), B-(iii), C-(iy), D-(i)

The Rajamundri Social Reform Association to

encourage widow re-marriage was founded in
1871 by -

(1) Veeresalingam

(2) K. Ramakrishan Pillai
(3) K. T. Telang

(4) Gopalachariar

When and with whose efforts was Indian
Institute of Science established in Bangalore?
(1) 1917, Prafull Chand Rai

(2) 1930, J. C. Bose

(3) 1909, Jamshed ji Tata

(4) 1911, Meghnad Saha

5.

7.

8.

R & AfT — Rarait § srivy @r 87

(1) B3 gor

(2 3= & IRAR gRT &R B IR BT SN
TG I

(3) fagre & w¥E gead B qEY IR TR
AT

(4) STeTS[ell BT UHIGET Gull

A1 Td -1 B Gafera BIg Tom i

f e 4§ 98 SR gihg -
ks ol

(A), TIST §S3F oY

(B) <TER WA DY

(C) feoel ved5 &9

(D) YT TSI HH
A1

(i) TRCR 3pfEs (FMRET)

(i) xfag =9y

(iii) STCRr HRISiT

(1v) ISR

T‘_\d —

(1) A-(iv); B-(iii), C-(ii), D-(i)

(@) A-G), B-(ii), C-(iii), D~(iv)

(3) A-iiii), B-(iv), C-(i), D-(ii)

(4) A-(ii), B~(iii), C-(iv), D-(i)

fAerar yafdars #1 di@iRd o1 & wew 9

1871 . # = Ave ReM valmem
iU far ar o —

(1) drafei™ gmr
(2) &. IFPHYT feeTs g

(3) ®. & diT 8RNI

(8) MARRYR gR1

4 39 3R 578 yamt ° gg?
(1) 1917, Yo =g M

(2) 1930, &t . 919

(3) 1909, SFRIEST Erel

(4) 1911, AeFTTE ErED
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9.

10.

.

12.

Name the revolutionary woman, who
participated in the Peasant Movement of
Bijoliya and was arrested. She also participated
in 1930 Satyagrah and 1932 Civil Disobedience
Movement and was sentenced to Jail -

(1) Rama Devi

(2) Ratan Shashtri

(3) Anjana Devi Chaudhary

(4) Kishori Devi

Match list-I with list-II and choose the correct
answer from the code given below-

List-I

Tirthankara)

(A) Parshvanath
(B) Adinath
(C) Mahaveer
(D) Shantinath

List-11

(Their cognition)
(i) Bull
(i1)) Lion
(iii) Snake
@iv) Deer
Code -
(1) A-(ii), B-(iii), C-(iv), D-(i)
(2) A-(iv), B-(iii), C(ii), D-(i)
() A-(i), B-(ii), C-(iii), D-(iv)
(4) A-(iii), B-(i), C~(ii); D-(iv)
Bhatiyani Pratapkunwari, the queen of Jodhpur
King Mansingh got the'temple reconstructed
elsewhere as the earlier one had caved in. She
got the temple consecrated in'1857. The name of
temple is -
(1) Kunj Bihari Temple
(2) Mahamandir
(3) Ghanshyamji Temple
(4) Teeja Manji Temple
Among Mauryan idols, the idol inscribed with
the name Manibhadra (Yaksha) was found from
which place?
(1) Jhing-ka-Nagra
(3) Besnagar

(2) Noh village
(4) Parkham

10.

11.

12.

SH HifdeR AR & M ARy e
faviiforar fram ar=tle & 91 fory ok =9
fRTR f5ar @ @ 1930 & ganE &k
1932 & |fA"g FasT a=<re F wrT forr ok
e TS — ‘
(1) =1 <&
(2) 399 =N
(3) 3T 2 e
(4) famst <Y
-1 T4 -1 o7 gafom B aer SR
& T 5 4 § v sox g -
Bl
(eiw)
(A) TTZE=TT
(B) 3nufe=mer
(C) H8rER
(D) Fmifosmer
R Clime 1
[CakalkiEu))
i 9™
(i) g
(i) g
(iv) f&=or
? -
(1) A-@i), B-(iii), C-(iv), D-(i)
(2) A-(iv), B-(iii), C-(ii), D-(i)
(3) A-(i)yB-(ii), C~(iii), D-(iv)
(4) A-(iii), B-(i), C-(ii), D-(iv)
SIEGR-RT] FHRiE 1 I Sl yarsad
- Y GRT §1 13 AR BT G 345 a4,
Fifd dga T/ HieY wide F o T o, 3R
S DI UV UFTST 1857 W IS | I HAR
BT AH & —
(1) %o foert H@feR
(2) wemfex
(3) TS @7 Hfew
(3) diom Al &1 H5fex

AR SreiE Ffat ¥, wfvig (@8) T ¥ sifed
Hfdt fea w1 | U g3 27

(1) S T—F—Tr1 (2 FrE 9™

(3) ITTR (4) wREH
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13.

14.

15.

16.

During the Quit India Movement, a girl named
Kanaklata Barua led a public procession and
defying the police, tried to enter the police
station but was shot dead. This incident took
place at - ‘
(2) Midnapur
(4) Gohpur
Which one of the following pair is not correctly
matched?

Books — Authors
(A) Neh Tarang - Sawai Pratap Singh
(B) Nagdaman - Sayanji Jhula
(C) Ranmal Chhand - Shridhar Vyas
(D) Bhasha Bhushan - Maharaja Jaswant Singh

(1A @ cC

3B 4D
Match list-I with list-II and choose the-correct
answer from the code given below -
List-1

Vrihi

Mudga

Yava

Ikshu

List-II

(1)  Sugarcane

(i) Rice

(i11) Mung bean

(iv) Millet

Code -

(1) A-(i), B-(ii), C-(iii), D-(iv)

(2) A-(iv), B-(iii), C-(ii), D-(i)

() A-(iii), B-(iv), C-(i), D-(ii)

(4) A-(ii), B-(iii), C-(iv), D-(i)

(1) Sonitpur
(3) Korapur

(A)
(B)
©
D)

Varika Vishnuvardhan Victory Tower situated
in Bayana Fort belongs to which period?

(1) The Sultanate period

(2) The Mughal period

(3) The Mauryan period

(4) The Gupta period

13. YRT BN <G & SRME, HIHdT THIT

14.

15.

16.

G Th Bl A STl BT Tk o [ieprell
3N gferd & warE 7 Hed gY 99§ g @
WA el WIS | I8 "l [ha wIg @ 87
(1) RfragR (2) frgeTgR
(3) PRI (4) Mege
?ﬁﬂ%ﬂ%ﬁ H I T U I WE gAfera e
? )
D — 9D
(A} 78 TRT = FaE_yquiiE
(B) AFTEHY — |igTSil e
(C) el B — R &R
(D WTYT Y91 — HERTSN woad g
1A @ C
3B 4D
W1 v gE-10 3 gAea SR e A=
feT T g # ¥ 9 g gfw — ~
H-1
(A) A&
(B) T
(C) 7@
(D) 38
-1
@) T
(i) =mgd
(i)
v} St
@ —
(1A-(i), B-(ii), C-(iii), D-(iv)
(2) A-(iv), B-(iii), C-(ii), D-(i)
(3) A-(iii), B-(iv), C-(i), D-(ii)

(@) A-(ii), B-(iii), C~(iv), D-(i)

mgﬁﬁaﬁaﬁmﬁ&ﬂﬂﬁ?ﬁmwﬁm
BT BT AET SIAT &7

(1) Fead &1t

(2 g1 B17

(3) 7 D1

@) 1 PreT
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17. Consider the following statements pertaining to

18.

19.

20.

21.

the Ahar Civilization —

(A) -The natives of Ahar knew copper smelting.

(B) Rice was unknown to them.

(C) Metal work was one of the means of
economy of the Ahar.

(D) Black — Red coloured pottery have been
found here, on which generally white
coloured geometrical designs have been
carved.

Choose the correct option -

(1) A, C and D are correct

(2) A and B are correct

(3) A, B and C are correct

(4) C and D are correct

When and where was the Central
Electrochemical Research Institute established
with the efforts of Alagappa Chettiar, Dr Shanti
Swaroop. Bhatnagar and Pt. Jawahar Lal Nehru?
(1) Lucknow, 1951 (2) Karaikudi, 1953

(3) Chennai, 1948 (4),Shivganga, 1953

On which part of body ‘Toti’ ornament is worn?
(1) Nose (2) Hand
(3) Waist (4) Ears

Match list-I with list-IT and choose the correct
answer from the code given below -
 List-T

The Battle of Gagron

The Battle of Sarangpur

The Battle of Summel

The Battle of Saheba

List-II
1 1519 AD
(iii) 1437 AD
Code -

(1) A-(i), B-(ii), C-(iii), D-(iv)

(2) A-(i), B-(iii), C-(ii), D-(iv)
(3) A-(ii), B-(iii), C-(iv), D-(i)
(4) A-(iv), B-(iii), C-(ii), D-(i)

(A)
(B)
©
(D)

(i) 1544 AD
(iv) 1541-42 AD

Where in Rajasthan, the printing press ‘Vedic
Yantralaya’ was established?

(1) Jodhpur (2) Udaipur

(3) Ajmer (4) Jaipur

17.

18.

19.

20.

21.

A/ AT & IR H A9 oM )RR

BTG —~

(A) JTESATH! TIET AT AT o |

B) I AT AEa A gRRIT TS o)

(C) a1g &I B4 sl @ sefeqwn &1
Udh e o |

(D) TET 9§ BTt — o1l 7 HeHos it & R
W A o5 W 4§ Sufdia snefadt
B TE B

el [dae &1 w9 g —

(M A,CvE D wd &

@DATTBED &

(G)A,BUE C ¥81 &

(4 Cud D 921 &

A5 Solpo e Red sRecye Y R

T TR, ¥ WY WHY WeArR ug

Y. STaTERdlel 8w & UMl § Hef oK o9 9

TS?
(1) TRaes, 1951 (2) IR Hsl, 1953
(3) =73, 1948 (4) Rrai, 1953

A I R B fhe B § v S
&7

(M 15 (2) grer
(3) wfe (4) &=
-1 G A1 3T gferd SIRT o SR
fS T ge 4 ¥ wE) S¥ gy -
R
(A) TR &1 g
(B) WRAQX &1 Ig
(C) “gHd &1 I
(D) Hedl & I§
i
(i) 1519%. () 15443
(iii) 1437s. (iv) 1541-42°%.
@ =

(1) A-(i), B-(ii), C-(iii), D-(iv)
(2) A-(i), B-(iii), C-(ii), D-(iv)
(3)A-(ii), B-(iii), C~(iv), D-(i)
(4) A-(iv), B-(iii), C~(ii), D-(i)
f&ar Ty or?
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22,

23.

24,

25.

Match list-I with list-II and choose the correct

. answer from the code given below -

List-I
- (Folk Musical Instrument)

(A) Bhapang
(B) Nad
(C) Algoza
(D) Khartal

List-II

(Famous Music Artist)
(1) Sadiq Khan
(i) Zahoor Khan
(iii) Karna Bheel
(iv) Ramnath Choudhary
Code -
(1) A-(ii), B-(iii), C-(iv), D-(i)

(2) A-(iv), B-(iii), C-(ii), D-(i)
(3) A-(i), B-(ii), C-(iii), D-(iv)
(4) A-(ii), B-(i), C-(iii), D-(iv)

Consider the following statements-and.-choose
the correct answer using the code given below —

Statement 1 : Krishnadevaraya, ruler of
Vijaynagar wrote the treatise
Amuktamalyada.

Statement 2 : Krishnadevaraya is also known
by the name of Andhra Bhoj. .

Statement 3 : Allasani Peddana, the poet
laureate well versed in Sanskrit
and Tamil, adorned his court.

Code -

(1) Statement 1 is true

(2) Statement 2 is true

(3) Both the statements 1 & 2 are true

(4) All the three statements are true

Where is the Rajasthani Bhasha, Sahitya and

Sanskriti Academy located?
(1) Bikaner (2) Jaipur
() Udaipur (4) Jodhpur

Where and when was the newspaper ‘Mazharul
— Saroor’ published?
(1) Bharatpur, 1849
(3) Ajmer, 1840

(2) Jaipur, 1856
(4) Udaipur, 1879

22.

23.

24.

25.

-1 U9 -0 &1 gafera S dor 4
& T g ¥ 9 9 SR g -
-1
(e arer 43)
(A) w9
(B) s
(GEEN)
(D) Esard
oI
(IEd HAIPR)
(i) G&IP Gt
(i) TR @f
(iii) oIt *eT
(iv) AR TR
W‘.\d =
(1) A-(ii), B-(iii), C-(iv), D-(i)
(2) Ax(iv), B-(iii), C-(ii), D-(i)
(3) A-(i), B-(ii), C-(iii), D-(iv)
() AGi), B-(i), C-(iii), D-(iv)
= o ) R #iE &k R He

ﬁmmaﬂﬁ?mmaﬁﬁﬁ—

BT 1 ¢ [OTR /& UME FERRE A
SIS T B T Bl |

B 2 : PO BT AT AT S 90 q 9
ST T 2

FUT 3: TP/ TRAR Bl IcclaFl UG TS
RIS QRIS o, o Gepa
Td dfAe SI1 ATRIT BT ST o |

R_
(ﬂmmlﬂ'é‘r%
@ T 2 T8 &
(3) w1 3R 2 S 9E &

(@) Wit 41 po | &

ST HTET, F@W@WWW
Jrafeerg 27
() frR

) SR

(1) AR, 1849
(3) 3PR, 1840

(2) SR, 1856
(4) STITR, 1879
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26.

27.

28

29.

30.

The correct sequence of Chief Justice of
Supreme Court of India is -

(1) B.P. Sinha, P.B. Gajendragadkar, S.R. Das

(2) K.G. Balakrishanan, S.H. Kapadia,
H.L. Dattu

(3) Ranjan Gogoi, N.V. Raman. Deepak Mishra

(4) H.L. Dattu, T.S. Thakur, Jagdish Singh
Khehar

Which of the following statement about

resolution adopted by a State Legislative

Assembly under Article 169 of the Constitution

of India for the abolition of the State Legislative

Council is correct?

(1) It does impose an obligation on the Governor
to reserve resolution for the consideration of
the President.

(2) 1t does not impose an obligation on the Union
Government to take action for initiating
legislative in Parliament:

() It does not impose an obligation ‘on the
Governor to reserve resolution for the
consideration of the President.

(4) It does impose an obligation on the Union
Government to take action for initiating
legislation in Parliament.

According to the |‘Rules of Procedure . and
Conduct of Business in Rajasthan Legislative
Assembly’, which of the following department’s
estimates do not comes under thecontrol of
Estimates Committee ‘A’?

(1) Public Works Department

(2) Home Department

(3) Education Department

(4) Finance Department

Rajasthan Public Service Commission presents
its annual report to -

(1) Chairperson of the Vidhan Sabha

(2) The President of India

(3) The Governor of Rajasthan

(4) Chief Secretory

According to the provisions of the Rajasthan
Municipal Act, 2009, maximum number of
persons that can be nominated by the State
Government in Municipal Council is -

(1 10 () 12

38 @6

26.

27.

28.

29.

30.

ARG B S A B g AR @

HE A § —

() 8. Rrr, R OETSER, THAR T

(2) B, IrEIHVH, TH.YA. PR, TATA T

(3) IS MME, . AL <o, Eue ey

(4) Tavd. <, LU, STaR, e g QR

I U tRyg & Sogea @ faw wsg

fAeTrerT g1 Wi @ argEE 169 B it

Wpd Whed & IR § Feifea F ¥ P

BT TE 87

(1) JroauTer R SR SRR B § 5 a8
HHed BI ISURT & AR Bq ARER R |

.(2)Wﬂwwﬁémmaﬁﬁﬁﬁ?€f

Fxar-2 & 7 due § QR e g
BIIATET PN |

@YU R DI qreaar PRI T& S
T 5 98 doen o wwul @ RER g
IRMET B |

(4) = WPR W el ARG Bvar &
98 g A fafy fmior & wrfar |

RIGTRI Al gt AT 399 St &7 qifie
Ufide Uqa Bxel—

(1) foem=TT 3pmeT & |He

(2) gl & Twe

Q) gt B e

(9 g wfa & wwe

ISTRIT TTRUTfereT 1S, 2009 & Uraem=it
® AR, I8 PR §RI TR URSg
e faT aafe 9m Fffe 5 o1 9o
g? _
M 10

(3 8

i« P2

) 12
@6
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31. Which one of the following is not basic element ~ 31- Fy=fIRaT § ¥ TFRS FRPR T3 & Hel I
of the citizen charter? H oI aftaferg &t 82
(1) Description of services being provided by (1) f9RT 3perar SIfYHROT ERT Y9 &) o &)
department or the agency Harsli &7 foger

(2) Promotion of various methods to get benefit (2) Yl @1 A IM B fon R Rk
from the services available B TERT AT

(3) To expect any public record @) 5 AF fieRE & arder

(4) Provision for the inspection of the agency’s @) SIfaRoT B 1 B FISET BT T
work

32. In which of the following year, for the first time ~ 32- oI YemGES ¥aT ARBHINGT BT ggell IR
Rajasthan Administrative Service Officers were oIt Beldes & Y. § gevgAr Fifpd 3§ 9
posted as District Collector? fog af &1 1 o2
(1 2021 (2) 2013 ) 2021 (2) 2013
(3) 2009 (4) 2018 (3) 2009 (4) 2018

33. Which of the following Chief Ministers of 33 Yo/ & Frifda HEE § | B A
Rajasthan have not been the member of Lo TS o] F8f g &7
Sabha? - ; (A) EReg Srsh
(A) Hari Dev Joshi (B) 93 g dgraq
(B) Bhairon Singh Shekhawat (C) ABRM Urharer
(C) Tika Ram Paliwal (D) REHIHTE @

(D) Barkatullah Khan I8 TWRE —
Correct answer is - '

(MA), B), (C) 3IR/(D
(1) (A), B), (C) and (D) W © 2

. 2) Hada

(2) Only (A) and (B) & (A) ¥R (B)
(3) Only (B), (C) and (D) (®) &3 (B), (C) 3R (D)
(4) Only (A), (B) and (D) @ 33 (4), (B) 3R (D)

34 Who among the following is eligible to be 34 Fr=iifbd F § BT SR 5y "G AR
appointed as the Chairperson of Rajasthan State RT3 9§ R frrafea =g s &7
Human Rights Commission? () 7= 9T wR &1 AR
(2) Chief Justice of High Court (3) T T A @t
(3) Prominent Social Activist ) g TEIFRYT R P AR
(4) Director General of Police Level Officer

35. Which Section of the Rajasthan Panchayati Raj  35. I[eTRI TaRId) <] R, 1994 @ f5g
Act, 1994 has been amended to replace the gRT BT HIMRT B U Y96 & ®IF | UMW
expression ‘Gram Vikas Adhikari’ in place of e ey e & ufdenig fooar
‘Gram Sevak’? TR 87
e 2 (1) 88 (2 89
i e A 3 91 DX

Ol‘@ Page 9 of 32



36.

Assertion (A) : The Duty of Comptroller and 36. T (A): g% U9 HeTorkar Wields $7 P
Auditor General is not merely T D G T Jay '\Eﬁﬁiﬁ[ BT
to ensure the legality of 3 am S o @
expenditure but also its '
propriety. HRY (R): S9 Rxig yomaq & o3 § wfaus

Reason (R) : He has to uphold the 3R w9 B DI DI TG G

Constitution and the Laws of =
Fnaocial poA S O &) T B UL
1) (A) is false but (R) is true @ ;‘% 3R (R% < W # @ ®), &) #
(2) Both (A) and (R) are true and R) is the T
correct explanation of (A) @) (A) wel 2 <fd R) T @
(3) (A) is true but (R) is false @ (A) IR (R) <HT W& E g R), (A) B
(4) Both (A) and (R) are true but (R) is not a T8l gReAr T8l §
correct explanation of (A)
37. Match list-I with list-II and identify the correct ~ 37- -1 &7 -1 9 e i ek 99 Ry
answer from the code given below - U B 4 ¥ GE SR B T PIIT —
List-1 ﬂ_[
Constituent Assembly Committeg Hﬁﬂﬁ_@'ﬂ iy
(A) Fur.tdamental ‘nghts (B) Steex’;-ng (A) @ SfRBR (B) | 1 FaTe™
©) SII;.;?ITII powers (D) Drafting (©) T wfe (D) | Ty
Chairman %

(1) B.R. Ambedkar @ & IR ARSI

(1) Jawahar Lal Nehru (i) TR YEw

(iii) K.M. Munshi (iii) . T, g

(iv) Sardar Patel (iv) ¥R T

ﬁ' —
Code - . h: :
: n (1) A-(iv), B-(iii), C-(ii), D-(i)

(1) A-~(iv), B-(iii), C-(ii), D-(i . . .

5 A_giv)) 4 ((il:;) o (SB D_Eg (2) A<Gii), Bx(iv), i), D-(i)

(3) A(iii), B-(iv), C-(i), D-(i) (3) A-(iii), B-(iv), C-(ii), D-(i)

(4) A-(ii), B-(iii), C-(iv), D-(i) (#), A-(ii), B-(iii), C-(iv), D-(i)

38. Which of the following statements are comect 38« oI & ABIgEd & day ¥ Afofag § 9

about Lokayukta in Rajasthan? DI BT eI/ E?

(A) He is a}ppointed by t.hC F}overnor and is (A) 98 YU ERT ﬁrg-cﬁ g ﬁm:mm $

responsible to the Legislative Assembly. Uiy STRERI-Bar &1

(B) His jurisdiction spans over Ministers, (B) SUST SFPR H#EAT, 90 Ry @

members of State Legislative Assembly and el U4 9 clld Had 9 Dol 2|

(C) He considers the cases of corruption and ﬁm_\, ST | o

mal-administration. S

(D) His job is confined to investigate allegations & f?ﬁmﬁ?j% St saf

and not grievances. i |

Code : e :

(1) (A) and (C) ) (4) w& (©)

(2) (A) and (D) @ (A) Td (D)

(3) (A), (B) and (C) @) (A), (B) TE ()

@) (A), (B), (C) and (D) ) (A), B), (C) Td (D)
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39.

41.

42,

Under Article 103 of the Constitution of India,
the President shall obtain the opinion of which
of the following authority before giving any
decision on any question regarding the
disqualification of the members of the Lok
Sabha?

(1) Speaker of the Lok Sabha

(2) Election Commission

(3) Supreme Court

(4) Attorney General

Which Constitutional Amendment-Act dealing
with  National  Judicial  Appointments
Commission, was declared.unconstitutional by
the Constitution Bench of the Supreme Court?
(1) 98™ Constitutional Ainendment Act

(2) 97" Constitutional Amendment Act
(3) 99 Constitutional Amendment Act
(4) 100" Constitutional Amendment Act

Which feature of Chief Minister Chiranjeevi

Health Insurance Scheme is incorrect?

(1) Under the scheme for different ailments 1576
types of packages and procedures will be
available.

(2) The disease for which a patient is admitted to
a hospital, 5 days prior to that and 10 days
after the discharge from the hospital all
expenditure on investigation, medicines and
consultation fee in..the' hospital will be
included in the package.

(3) It was started.on May 1, 2021

(4) Under this scheme an insurance cover of
% 4.50 Lakhs is payable per year per family
for serious ailments.

Consider the following statements regarding

State Election Commission, Rajasthan -

(1) The State Election Commission, Rajasthan

was constituted in December, 1994.
(i) It has a Secretary who is also the Chief
Electoral Officer for the state.

Code :

(1) Only (i) is correct

(2) Only (ii) is correct

(3) Both (i) and (ii) are correct

(4) Neither (i) nor (ii) is correct

39.

40.

41.

42,

ARG @ WU & 0T 103 & dgd, ey

N T B FoRSareli § Faldya fHadr of)

T W B3 U 3 9 gd feifed § 9

faa) = Qe

(1) SrmereTer

(2) fafe= smawr

(3) SzaH <R

(4) HEIRIaTSY

R =e fgfe ama @ wdfa aF 9

e 9s 7 srgaenfe ot wx e ur?

(1) 984T i Foes IR

(2) 973t ifaere oA s

(3).99a1 wfqemrt weiem siRfw

(4) 100af Hfem HeieE R

g foRoid warey 91 Ao 9 PRl

faeraT et 27

() A & ifa faRe faiRat & 1576
TR & Joolg T IRie Suaer 2|

(@) TG 519 R /& fore arare # <t g
2,99% 5 377 /9gd ud vt 9 10 i
9% 9% YA § o T widl, g9 ue

WREY Yed BT IT UBw @ oAy A
wftafera 24

(3) SHSDI YRIA| 1 A, 2021 F & TL|

@) g6 AIT F sffa. TR fARaE ¥
4.50 g T AR BT 7 HaR giyad TRy
IRIR < 2|

() @ faRE R @1 e
fewwR, 1994 % gam)

(u)s'\trasrwﬁas‘méa‘rwaﬂg@
et siftrery o gar £

T
(ﬂaﬁa(i) Tl ?

(2 Tae i) v 2

() (i) 3R (i) A7 WL &

@9 @) iR 7 & (i) w2

01-&
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43.

46.

47.

Identify the incorrect feature of the recently
declared ‘UDAN’ scheme of the Government of
Rajasthan -

(1) Under this scheme all women in the state will

get free sanitary napkins from 19t
November, 2021

(2) The scheme will come into operatlon from
19" November, 2021

(3) For effective implementation of the scheme
2 Brand Ambassadors at state level and 1 at
district level will be engaged

(4) The scheme aims to make women aware
about better health and individual physical
hygiene

The case of Vishakha and others Vs. State of

Rajasthan and others is related to -

(1) Transfer policy for women

(2) Maternity leave inrespect of working women

(3) Prevention of the practice of dowry prevalent
in the society

(4) Prevention of sexual harassment of women at
work place

Gurumukh Nihal Singh was appointed as the
first Governor of Rajasthan on -

(1) 2% November, 1956

(2) 25% October, 1956

(3) 1* November, 1956

(4) 26" October, 1956

Fundamental Duties were incorporated in the
Constitution on the recommendation of -

(1) Swaran Singh Committee

(2) Shah Commission

(3) Administrative Reforms Commission

(4) Santhanam Committee

Who among the following Judges of Rajasthan
High Court has held the office of State Minister
in Government of Rajasthan?

(1) Justice Mohammad Yamin

(2) Justice Suraj Narayan Didwania
(3) Justice Farooq Hassan

(4) Justice Yad Ram Meena

43.

45,

46.

47.

RISTRITT ¥R gRT 341 Bl H, O S+

AT B TTera fadwar Riffed Hivig —

(1) 39 AT & 3idia gowr @ 4 dfRenaii
Bl 19 TR, 2021 ¥ Y b R
foreta

(2) IF A 19 FERR, 2021 W oA )

() Ao B g9 fharaaa 3 o ey ')
R T SR RNl TR R 06 gic TRdsx
TIY SR

(4 39 Io &1 SeYE ARl B EdR
WReY 3R AfRATd RS w@=odr & ufy
ST T &

WHWWWWHWW

AR 8 —

(1) Afgemai-$1_dergar ifq ¥

(2) DHPIST FigeTsl & A aHTE o

(3) ST H T SRS T B YT @) ABeAH
il

@) Frie ) ARl & d9 SadeT @
pAH I

TegE e Rig I IR BT Yo auTel
gt fooam Tmam o —

(1) 2 Fa%R, 1956 B

(2) 25 JaCTR, 1956 B

(3) 1 FT=IN1956 BT

(4) 26 37FTET, 1956 BT

Hfgera # Hqa Fual /e ReRea ®
aftrferd far T, 98 & —

(1) o Rz afafy

(2) omE ST

(3) geniis. gER ST

(4) Horrs |ty

RISTRIT Seg AT & [=lfha e &
A BT ORI WRHR § ISTHA B g W®
IR < 87

(1) SRew Aewe IMm=

(2) Gifcw ROl ARMTT SrsditaT
(3) SIRew BT B9
(4) SR<T IeR™ o

01-&
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48.

49,

50.

51.

52.

Identify the comrect pair mentioning the

Directive Principles of State Policy in the

Constitution of India -

(1) Equal justice and free legal aid — Article 42

(2) Organisation of agriculture and animal
husbandry — Article 43

(3) Organisation of village Panchayat — Article
41

(4) That there is equal pay for equal work for
both men and women — Article 39

Which one of the following said, “A

Constitution, like a machine, is a lifeless thing.

It acquires life because of the men who contrel

it and India needs today nothing more than a set

of honest men who will have the interest of the

country before them™?

(1) Dr. Rajendra Prasad

(2) Jawahar Lal Nehru

(3) Dr. B. R. Ambedkar

(4) Mahatma Gandhi

Which of the following is not true about-the

objectives of the Right to Information Act?

(1) To promote transparency and accountability
in the working of the government

(2) To make our democracy work for the people
in real sense

(3) To empower the women and weaker sections
of the society

(4) To empower citizens

In which among the following district, sub-
tropical hilly forests are found?

(1) Sirohi (2) Udaipur

(3) Banswara (4) Jhalawar

- In which year Rajasthan Solar Energy Policy

was declared?
(1) 2015 (2) 2017
(3) 2019 (4) 2018

Which among the following is not correctly
matched?
Lake - Country
(A) Balkhash — Kazakhstan
(B) Titicaca — Bolivia-Peru
(C) Erie — USA-Canada
(D) Baikal — Ukraine
(B
) A

() C
4D

48.

49,

50.

51.

52.

83.

XA ® dfde #§ aftfa N Fese g@t o

gafera g™ gganfag —

) =R &R fFyes e gemar —
gE 42 |

(2) MY IR UG BT TS — IFTHT 43

(3) I TERE BT HeT — S 41

(4) goui 3R Rl <Ml &1 wHE e @ forg
HHH 9 81 — g 39

frefofaa # & 5w er o, o S v
A B ARE 999 A 2, 399 9 AT ofae
TPd 8 Wl gt A P € 9Rd ¥ a9
RY_SHFIR AN B A¥EHT & e foru
IEfRT & e 87

(1) . o= uETe

(2) STaTER 1 s

(3) <. §t. IR, FEEHY

(4) 5grT ey

ol & JRGR AfRfem & SRwl & wey

f=foraa § 9 oibar |8 =8 27

(N RPR, & FRieww § yrelfar wd
IR BT ISMT

(2) TR Slibed BT VG I Ifb 98 ard
# A & o B &Y

(3) TS BT AR T FHGR dewi (a7 By
[T B D [0 B Hr

@) TR B GIdd HIT

= & ¥ fow R 3, Sy—sor wddg 7

ST 27

(1) i (@) SsaR
(3) giwareT (4) zerrars
B X T4 IR AR et AR Ofitg @)
TS ofi?
(1) 2015 (2) 2017
(3) 2019 (4) 2018
71 9 3 e w8 gafera T8 27
- #a -3

(A) SIGY (JeDR) — FOEEN
(B) &P — areffaar-ie
(©) 2 — JTHY-FTeT

(D) 9Tl — Igebei
(1B (2 C
) A 4D

01-©
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Which one of the following is not correctly

5. f % ¥ B 1 TP WE R T &7
?:;lt];hEd? 1 (1) Sgige — SRR
etroit — Automobile AT SRar
(2) Gornaya Shoria — Cotton Textile 1 _.qﬁ e
(3) Anshan — Tron and Steel () 312 — ST v g
(4) Yokohama — Ship Building _ (4) ArPTETAT — SHerdiet fafor
55. Gogelav Conservation Reserve is situated in 55 Tiemg &R &7 fora e § Rerg 22
which district?
(1) Pali (2) Chiru (1) et @ 75
(3) Nagaur (4) Jalore (3) AR - @ 9ER
56. Match list-1 with List-II and select the correct  56- -1 3 -1 ¥ gafera SR dor a9
answer using code given below - SR BT T A G g § 9 P —
List-T (Tourist Centre) T (e i)
T, (A) ATeHTE
(B) Tripura Sundari B)_ R g=&
(C) Gagron Fort (C) TR fPHalr
(D) Nakoda (D) BT
) List-IT j%ﬁon[ m M)
(1) Jhalawar .
(i) Barmer (1) ¥
(iii) Bikaner (i) R
(iv) Banswara (Fl) W
Code - (v) diFdrsT
(1) A-(ii), B-(i), C-(iv), D-(jii) Re —
(2) A-(iv), B~(iii), C-(ii), D-(i) (1) A<Gi), B-(i), C-(iv), D-(iii)
(3) A-(iii), B-(iv), C-(i), D(ii) (2) A-Giv), B-(iii), C-(ii), D-(i)
(4) A-(iii), B-(ii), C-(i), D(iv) () ALii), B-(iv), C-(i), D-(ii)
(4) A-(iii), B-(ii), C-(i), D-(iv)
57. The following characteristics ar¢ of whichriver? ~ 57- o RswdIg by =d) a1 ¥?
- Originates from the\ Aravalis near the Fort of — SIP]_BH GG fhel ® e SRITe
Kumbhalgarh. TRyl 9 2 |
- Flows through the Mewar Plain. — IE A< HATS B/ A B 7 | YoR B
- Bedach, Kothari and Morel are its tributaries. — 959, PIONI 9/8Re THD! GG Tiear ¥
(1) Banas (2 Luni (1) 19 (2) o0
(3) Chambal (4) Mahi (3) oL (4) HTé’[
58.  As per Koeppen’s climate classification, which 58 B P Sy FGNT & JTAR e §
among the following are correctly matched? DI X el GHlera &7 ’
(A) Cwg - Bharatpur (A) Cwg - RAR
(B) Bwhw - Barmer (B) Bwhw - qI$*R
(C) Bshw - Ganganagar (C) Bshw - TR
(D) Aw - Dungarpur ' (D) Aw - STRYX
(1) (A), (C), and (D) (1) (A), (C) W@ (D)
(2) (B), (C) and (D) (2 (B), (C) W (D)
(3) (B) and (C) (3) (B) T4 (C)
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59. Which among the following are parts of Thar 59 e ¥ ¥ 9R Foeiel & AT 87
desert? _ (A) Tsars 39T
(A) Godwar Tract (B) IFETSY w9
(B) Shekhawati Tract (C) §719 &1 e[
(D) Ghaggar Plain
(1) (A) and (B) ) (A) T (B)
(2) (B) and (C) (2 B) 7@ (C)
(3) (A), (B) and (D) @) (A), (B) T@ (D)
(4) (A), (C), and (D) (4) (A),(C) @ (D)
60. Doda Betta Peak is situated in - 60. Srer—qgT @l Rery & —
(1) The Anaimalai Hills (1) s=Terrs v #
(2) The Nilgiri Hills (2) e gifeay +
(3) The Vindhya Range (3) =g/t Ao |
(4) The Satpura Range (4) TagsT ot 3
61.  According to 2011 census, the districts having -~ 6% 2011 & SFTvFT & TR, NSIRIH & B
highest rural and urban sex ratio in Rajasthan I Rt § arfior @ik Tk feRTura waifeis
are - 27
Rural Sex Ratio - Urban Sex Ratio 101 T 015 e s A B E i L
(A) Rajsamand - Banswara (A) SIS — SiarsT
(B) Dungarpur - Tonk (B) W — %
(C) Pali - Churu .
(D) Jalore - Nagaur D) TR — Al
(1B (2) A ) 2
(3) D 0% 2 -
3D 4) C
62. The second highest percentage of Scheduled 62 xjoreeyr SRS IESESE N EUE e fe o S b
tribe population in Rajasthan is found in @I R G9F gy 2 2011) -
(2011) - :
(1) Banswara District (1) rearsT ot
(2) Pratapgarh District (2) g forer #
(3) Dungarpur District 3) ¥R forer #
(4) Dausa District @) < ey o
63. Which among the following is situated on North- ~ 63. e § § @i STR—TRT TR w) Rerg 22
South corridor?
(1) Lucknow (2) Agra () sET, (2) 3
(3) Kota (4) Kanpur @) Brer (4) BR
01-©
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64. Match list-I with list-II and choose the correct  64.

answer from the code given below -

List-I (District)
(A) Udaipur
(B) Nagaur
(C) Bhilwara
(D) Kota

List-1I (Main Industry)
(1) White cement
(i) Chemical
(i11) Textile
(iv) Lead and Zinc
Code - :
(1) A-(iii), B-(i), C-(ii), D-(iv)
(2) A-(iv), B-(ii), C-(i), D-(iii)
(3 A-(i), B-(ii), C-(iv), D-(iii)
(4) A-(iv), B-(i), C-(iii). D-(ii)

A1 T4 -1 & Gaforg SIg der <=y

&3 T He § § 98 s ghg -
-1 ()

(A) STIR

(B) -FIR

(C) ¥etarst

(D) BreT
A1 (e )

(i) 9Ps dH=<

(i) R

(iii) T &I

(iv) |1 U9 St

@l’ -

(1) A<(iii), B-(i), C-(ii), D-(iv)

(2} A~(iv), B-(ii), C-(i), D-(iii)

(3) A-(1), B-(ii), C-(iv), D-(iii)

(4) A-(iv), B-(i); C-ii), D-(ii)

85. Match list-T with list-II and choose the correct. 65 _¥&i—1, @) -0 8 gafea ST qen =i
answer from the code given below- & 1w Dhe H ¥ a9 @ﬁ‘;’ =
List-I (River) A1 (F))
(A) Godavari (B) Mahanadi (A) TETas (B) 9!
(C) Damodar (D) Kaveri (C) THIRY (D) S
List-II (Tributary) A1 (Fes <))
(i) Bhavani () Ha
??.)) gengagfa (i) O
iii) Seona
(iv) Barakar glv‘)) e
Code - e
o SOB(i). CeDAD-() (1) A-(iv)B-(ii), C-(i), D)
R AR (2), A-(ii), B-(ii), C-(iy), D-(i)
(3) A-(3), B-(ii), C-(iv), D-(iii) 3) A%G) ’B-(ii) ,C-(iV) i)-(iii)
SR DA (@) A-(i), B-Gi), C-(i), D-(iv)
66. Which among the following is correctly 66 = ¥ § Plar 48 gAfora 87
~ matched? (1) 7S — STl
(1) Manganese — Bailadila (2) geaEe — diENeT
(2) Bauxite — Lohardaga (3) 3BT — WHIeHT
(3) Iron — Koderma @) 3P — TATRR
(4) Mica — Talcher
67. Which among the following is correctly 67 7 3 & &= w1 wg gafow 27
matched? (A) HiSI-BI-9Td — BeauR
A) Mando-ki-pal — Feldspar JoTaTET — .
EB)) Talwara — Iliead and ZIi)nc (B) j W U ST
(C) Kherwara — Asbestos (C) BRI ~ TEEweH
(D) Rishabhdev — Mica (D) REHT — 3D
(1) B 2D (1) B (2 D
@) A @ C @) A @ C
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68.

‘Green Energy Corridor’ will pass through
which of the following districts of Rajasthan?
(1) Ajmer, Chittorgarh, Bikaner

(2) Jodhpur, Jaipur, Alwar

(3) Udaipur, Bhilwara, Jaipur

68. fi9 vl PNIER NI @ frfefag &

9 fbe foral | worae
(1) o, friteTe, daTR
(2) TR, TR, 3feTaR
() SR, Hicrars], SR

(4) Kota, Ajmer, Jodhpur (4) Be], TR, SR
69. Match list-I with list-Il and choose the correct - -1 B -0 ¥ gEfad S gur AR
answer from the code given below- f&d T @e | F v wwR g -
List—I (Site) a1 (wm)
(A) Pavagada (A) YIdrTe
(B) Tattapani (B) aTquTE
(C) Muppandal C) Hugd
(D) Kakrapar | ED; BRI
List-11 (Energy) 1
(1) Wind ) %(@)
(ii) “Solar S e
(iii) Geo-thermal (i1)
(iv) Atomic (?11) li[glltilu .
Code - (v) GRHTY] (3Tfogep)
(1) A~(iii), B-(ii), C-(i), D-(iv) o~
(2) A-(i), B-(iii), C-(i), D(iv) (1) A-(iii), B-(ii), C-(i), D-(iv)
(3) A-(i), B(ii), C-(iii), D-(iv) @ A-(D), B(iii), C-(ii), D-(iv)
(4) A-(ii), B-(iii), C-(i), D-(iv) () A-(i), Bx(ii), C-(iii), D-(iv)
(4) A-(ii),B=(iii), C-(i), D-(iv)
70. Match list-I with list-Il and choose the correct - -1 UG eI &7 gafora sty e e
answer from the code given below- fEAare $2 H ¥ FE SR gﬁ(‘l £
List-I (Landform) -1 (RIciH i)
(A) Aconcagua A) THIGHTLRT
(B) Meseta EB)) erare
(C) Serengeti Plains RTINS
(D) Gibson desert Eg; e ej;ﬁ '
List-II {COﬂtu}ent! m @)
(i) Australia & <
(i) Africa (;i) W3 Do
(i11) Europe (i) W
(iv) South America (iv) =frof iR
Code - HS —
(1) A(iii), B-(i), C-(iv), D-(3) (1) A-(iii), B-(ii), C-(iv), D-(i)
(2) A-(ii), B-(iv), C-(i), D-(iii) (2) A-Gii), B-(iv), C-(i), D-(iii)
(3) A-(iV), B-(ii), C-(iii), D-(i) (3) A-(iV), B—(ii), C-(iii), D-(i)
(4 A-(iv), B-(iii), C-(ii), D-(i) 4 A-(iv), B~(iii), C-(ii), D—(i)ﬂ
71. What is the rank of India in the World Happiness - IcS UMY ST 2021 § YR BT R W
Index 2021? 27
(1) 141 () 129 (1) 141 (2) 129
(3) 121 4 139 (3) 121 ) 139
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72.

73.

74.

75.

76.

What is not included in the Tndex of Industrial
Production (IIP), which is the measure of
Industrial activities in the Indian Economy?

(1) Gas and water supply
(2) Electricity

(3) Manufacturing

(4) Mining

What is the proposed plan expenditure in
percentage of total expenditure on electricity in
Rajasthan’s budget 2021 — 22?

(1) 52.19% () 14.32%

() 7.42% (4) 12.05%

The Net National Product at Market Price
(N.N.P. MP) is —

(1) Gross National Productat Market Price = Net
Income from abroad

(2) Gross National Product at Market Price —
Transfer Payments '

(3) Gross National Product at Market Price —
Depreciation

(4) Gross National Product at Market Price —
Subsidies

In which of the following budget; the Railway

Budget was merged with the Union Budget in

India?

(1) Budget 2019 - 20

(2) Budget 2018 — 19

(3) Budget 2016 — 17

(4) Budget 2017 - 1§

Which of the following statement is wrong about

Rashtriya Gram Swaraj Abhiyaan in Rajasthan?

(1) Slogan of the scheme is ‘Aapni Yojana
Aapno Vikas’.

(2) The funding pattern of this scheme'is to be

shared between Central and State Govt. in the
ratio of 60:40.
(3) Focus of the scheme is on capacity building
of elected representatives and functionaries.
(4) Panchayat Shashaktikaran Abhiyaan was
renamed as Rashtriya Gram Swaraj
Abhiyaan.

72

73.

74,

75.

76.

drenfis IueT fdwis, W 5 urdy
aﬂmawﬁeﬁﬁ%mnﬁww%‘,sﬂﬁ

w1 afFfera T& febar smar 22

(1) 19 79 Semyf

) fe@

(3) faffmior

@) g1

2021 -22 % ISR — q9IC ¥ feE W g
Y BT YA AT Ig BT giaeg & —

(1) 52.19% (2) 14.32%

(3) 7.42% @) 12.05%

TR el W Y TS IS & —

() IR Fl R G6d T SaAe — Ry
q Ig 3™

@ IR &bl R TP S IAE —
BRATROT AT

) IR Ul W Hba T S — Yo

(4) IETR oAl W HHA IST SA1§ — R
= 79 P9 9§ oie ¥ 9ra § Y g9 B
S1g gofe ¥ fem fRar war?

(1) 957€.2019 - 20

(2) g57c 2018 - 19

(3) 951 2016 - 17

(4) 951 2017 - 18

RUSEL1 B B £ e 4 £ e 2 ) o e B e

H fafafad & § SF—ar T Taq 22

(1) g9 AT &7 9RT & ‘3ol Ao amgon
faemr 2

(2) 39 Ao # A Une B R B 9 S
WER B d9 60:40 B UG ¥ RRRD
BT 2| '

@) 39 doE F ANy e SRR ud
FIHD B &HaT Faud U 2|

@) vorg wufdeRer s &1 & 9m

ISR RIS T FRTo1, AMAE fobar 1

gl ™ ):

01-&

Page 18 of 32



77.

78.

79.

80.

81.

82.

‘Base year’ in National Income accounting

means —

(1) The year whose income is being used to
calculate the nominal GDP

(2) The year whose prices are being used to
calculate the nominal GDP

(3) The year whose prices are being used to
calculate the real GDP

(4) The year whose income is being used to
calculate the real GDP

What is the share of Rajasthan Government in

funding in National Mission on Agriculture

Extension and Technology?

(1) 20 Percent (2) 40 Percent

(3) 30 Percent (4) 50 Percent

What was the rank of India in the Ease of Doing

Business Index| for 2019, as per the Doing

Business Report (DBR), 20207

(1) 146 (2) 63

3 77 (4) 96

Which of the following department has been
declared as the Nodal Department for the
effective  implementation = of - Sustainable
Development Goals in Rajasthan?

(1) Chief Minister’s Office

(2) Directorate of Industries

(3) Planning Department

(4) Human Resource Development Department

When was the “PM Kisan ‘Maandhan Yojana”
launched for the purpose of pension to small and
marginal farmers?

(1) 15 August, 2020  (2) 12 September, 2019
(3) 26 January, 2020  (4) 25 August, 2019

According to Rajasthan budget 2021 - 22, in
which district the Fintech Digital University will
be established?

(1) Jaipur (2) Sikar
(3) Jodhpur (4) Ajmer

Atal Bhu — Jal scheme was launched on 1 April,

2020 by Government of India, with assistance
of —

(1) World Bank

77.

78.

79,

81.

82.

RIS 3779 @i § MR a¥ &7 aref & —

(1) 1579 99 &1 Mg &7 SUANT Hifed off. < 6
B T B fo fbar o

@59 o @ Huar &1 ST ALe
ARSI A o ) L 1 ol o L s s

@) 59 99 & Pl H1 I IRafaD
- S S0 F v @ form b ST ¥

@R o & JE F ST adfas
SIS UL @ o @ fon fear ST 2

I B IR vd depiiat fred ¥ for o
# ISTRIM YRl e |1 87

(1) 20 gferera (2) 40 yfcrera

(3) 30 ufcra (4) 50 gfcrera
YR AT RUIE, 2020 & JGAR, 59 %
T S GEeie 2019 ¥, GRG BT P
LINIREIT

(1) 146 (2 63

®) 77 - (4 96

RIS 3 | [T cedi & uardl frarage
T M & e T o1 Aee fRvmr aifvg
fbar T e?

(1) gega= Frafey

@) sz Feeme

(3) amarorT fumy

(4) Ar19 G/ fAer farT

g R dura fFaet & UeE B St W
WWWW D YR B
(1) 15 s, 2020
(3) 26 SaY, 2020 (4) 25 3FTE, 2019
ISR §oic 2021 - 22 & SWR, fhics
S,’TI??EH faeafdenem 1 e g R
(1) SrgR (2) Hiax

(3) SRR (4) arsTR

1 3Wel, 2020 $T ART TWHR R I AT T3
A Y-Sl W § WEIdl SUTe] AR
qrell Gl & —

(2) 12 fgawR, 2019

(2) European Bank for Reconstruction and (1) foeq 9o

Development 2) TIﬁﬂTUT 9 fawr %‘g’ W d®
(3) Inter-American Development Bank @) o IR fwm I
(4) Asian Development Bank @ REE e I

01-&
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Which of the following district is not a part of ~ 84. f=feiRad ¥ ¥ FF—ar Rren ST H A
‘Desert Triangle’ in Rajasthan? BT &1 g 98 &2

(1) Jodhpur (2) Bikaner (1) SgR (2 fiorR

(3) Barmer (4) Jaisalmer 3) IR (4) SraeRR

85: According to census — 2011, what was the work ~ 85. SIFTORTT — 2011 b IFER, IR T4 TSI
participation rate in India and Rajasthan 4 o1 TEwIfiar =, s e @
respectively? X
(1) 43.6% and 41.8% e SRS
(2) 39.8% and 43.6% (2).30.8% v 43.6%

(3) 42.4% and 41.8% (3) 42.4% vd 41.8%
(4) 39.8% and 36.4% (4)39.8% T 36.4%

86. Which of the following is responsible for 86. FymfRaa 3 q B “IYHH ARG T
implementation of “Ayushman Bharat Pradhan S RFY ST F fharaae ¥ SeRaR
Mantri Jan Aarogya Yojana™? . 2? ,

(1) National Health Authority (1) ISy ey yidewor
(2) World Health Organisation (2) e e T
(3) Niti Aayog
(#) Insurance Regulatory. and Development (8) A smaeT
Authority of India @) yrd dr/r e oiR ey wreyor

87. For empowerment of women Indira Mahila 87 wfeeal @ @efega &g sfaxr wfRen wfdm
Shakti Nidhi was launched on — - At @1 gooma &8 off —

(1) 18 December, 2019 (1) 18 fegwax. 2019
(2) 18 December, 2018 (2) 18 feg==, 2018
(3) 18 December, 2016 (3) 18 feER, 2016
%) 18 December, 2017 @) 18 ﬁ'\qﬁl‘{ 2017

88. As per the advance estimates, per capitaincome 8. IfRT SrgHMY & FIER, 2020 - 21 H Rer
of Rajasthan at constant prices (2011~ 12) for DA W (2011 - 12) TR 3 Uy i
the year 2020 — 21 is — I B —

1379722 (2397227 1.79,722% (2 97227%
(3) 272,297 (4) X 75,527 (3) 72297% 4 75527%

89. In case of critical illness health insurance 89: SIS WK HEHT T ISTeIT Fareey &1
covered per family per year under the scheme ST & =TI Ad 8 w@reg § 1 3
Ayushman Bharat Mahatma Gandhi Rajasthan Rerfey & wfty aRar ofy a8 & o ared TR
Swasthaya Bima Yojana is — &=
(1) ¥ 3.50 Lakhs (2) ¥ 4.00 Lakhs (1) 3.50 g Z (2 4.005TT 2
(3) ¥ 4.50 Lakhs (4) T3 Lakhs ®3) 4.50 o”g 2 @) 3arg T

90. ‘Parwan’ multipurpose irrigation project-of 90. XISReNT & ‘TRET g Rias aRarem
Rajasthan will provide irrigation facilities in the =1 forat & R gﬁm EELR| B —
following districts — (1) STeTaTE, 97 3R BreT R
(1) Jhalawar, Baran and Kota district ) i
(2) Tonk, Bundi and Kota district @ a_cﬁ T SR prer foren
(3) Kota, Bundi and Jhalawar district (3) Brer, T SR grenars forer
(4) Jhalawar and Bhilwara district (4) TS Sl +frerarst forer
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91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

With a 16:9 picture aspect ratio, display
resolution 1080p means -
(1) 1080 x 1080 pixels (2) 1920 x 1080 pixels

(3) 720 x 1080 pixels  (4) 3840 x 1080 pixels
The state flower of Rajasthan is -

(1) Kachnar (2) Rohida
(3) Sunflower (4) Nag Kesar
Full form of MOEMS is -

(1) Micro-Optic Electronic Media Source

(2) Micro-Opto-Electro-Mechanical-Systems
(3) Mega Operations Electronic Media Software
(4) Micro-Optic-Electro-Mechanical Source

Malignant malaria is caused by -
(1) Plasmodium vivax

(2) Plasmodium ovale

(3) Plasmodium malariae

(4) Plasmodium falciparum

Which part of human body is infected by. the
virus causing Japanese encephalitis?

(1) Skin (2) Red blood'cells
(3) Brain (4) Lungs
Compressed Natural Gas (CNG) is mainly. -
(1) Ethane (2) Propane

(3) Methane (4) Butane
Kadaknath is a breed of -

(1) Bull (2) Goat

(3) Buffalo (4) Fowl

How much has the global average temperature
risen in the last century?

(1) 3.0°F (2) 1.8°F

() 34°F 4 24°F

The State Remote Sehsing Application Centre
working under Department of Science and
Technology Rajasthan is situated at -

(1) Jhalawar (2) Ajmer
(3) Jodhpur (4) Jaipur
A quantum dot is -

(1) Electron microscopy image of nanostructures
smaller than 1 nanometre

(2) Nanoscale analog of radio antennas
(3) A fictional nanorobot
(4) A semiconductor nanostructure

91.

92.

93.

94,

95.

96.

97.

98.

99.

100.

16:9 @ o sfmEd e (AeR ardiee
) @ W, geY e (R Reifegm)
1080p &1 apf & —

(1) 1080 x 1080 T (2) 1920 x 1080 AT
(3) 720 x 1080 faedew (4) 3840 x 1080 Ricy

RISAT BT I Y & —

(1) TR () ifgsT
3) oI (4) 17T R
MOEMS &7 guiey & —

(1) Agepr—3iifted solagie Afear art

(2) AH—Se-gdae - s Ha—Resg
@) 771 Sl seasie AT diveaw
@) FEpIiificr—sdac—ad o A
ged (Aferie) wolkar sar & —

(1) wrfsTH fadew 9

(2) AT a9

@) =rAfsTa 7Ry o

(4) IHISTH Bt o '
U Fhased & HRG INR
(1) <= (2) &t SRR PIRBN
(3) wiash 4 Bne
ST Wpfrs e (¥gsf)
(1) w5 (2) s
(3) #Hor (4) =
HSHT T fheT & —

(1) | 9 (2) gH A

3) 34 (@ 3§ o5
%@gﬁﬁﬁﬁmaﬁﬂﬁﬁmﬁﬁﬁmﬁq@
35

(1) 3.0°F (@ 1.8°F

(3Y3.4°F (@) 24°F _
fa= 3R Arenfiet s & arfl riva Wy
Rele JRT TelidsT Jex Rerg & —

(1) seTaTs o (2) 3R §

(3) SrrgR (4) SragR %
e SC & —

(1) 1 F9MIeR § BT A9 WReIi 7 seaet
eredl ufifew '

I § —

@ A T BT ARG s

() v& sfeaa F9RERE
@) IrgarTd ) HRTT
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101.

In Stethoscope, the sound of the patient’s
heartbeat reaches the doctor’s ears by -

(1) Multiple diffraction of sound

(2) Multiple reflecticn of sound

(3) Polarisation of sound

(4) Multiple refraction of sound

102 According to India State of Forest Report 2019,

103.

104,

105.

106.

107.

108.

in which one of the following district, very dense
forest area is minimum?
(1) Jaisalmer

(3) Alwar

Mother — foetus Rh blood type incapability
problems can occur if the mother is
and her foetus is...........

(1) Rh positive; Rh negative
(2) Rh negative; Rh positive
(3) Rh negative; Rh negative
(4) Rh positive; Rh positive

(2) Jodhpur
(4) Jaipur

Trisomy 21 is known as -
(1) Evans syndrome

(2) Edwards syndrome
(3) Down syndrome

(4) Gray baby syndrame

Solar observatory in Rajasthan is situated at -

(1) Udaipur (2) Jaipur
() Ajmer (4) Jodhpur
The motto of Defence Research and

Development Organisation is -
(1) Jagratam Aharnisham

(2) Tejasvinavdhitamastu

(3) Balasya Mulam Vigyanam
(4) Vayam Rakshamah

Which of the following is not a Zoonotic
disease? :
(1) Mucormycosis

(2) Rabies

(3) Plague

(4) SARS

Which of the following vitamins are fat soluble?
(1) Cand E (2) Aand C

() Aand D (4) Bizand D

101.

102.

103.

104.

105.

106.

107.

108.

WA #, M B e B g A ey
SIAeR & HHI % Tgae & —

(1) eafy & 98 faad+ gro

(2) el & 98 WRrade gRI

(3) afy & gaor T

4 =N & 95 uade g

Rq o7 Reafa RAlE 2019 & ageR, F= § 9
?ﬂw%ﬁﬁ,ﬁwwmw
?

(1) SrEeR
(3) ey
1T 14T Ry Rh Yo YR A6y o) e
SADT THRT R 2

(1) Rh-gf2d; Rh &9

(2) Rh €9; Rh wfea

(3).Rh &9; Rh &9

(4) Rh 9f2d; Rh dfed
%@sﬁﬁrzlaﬁﬁwﬁﬁﬁmﬂwﬁmm
5

(1) s Rigm

@ gsaca Rigm

(3) s+ Rigw

@ ¥ ot Rigm

RIGTRIE. H IR JERITer $el fRerg 27

(1) Seagmd () SIEgR 4

(3) R H @) SR ¥

RET AR T [Apr A6 &7 sneTae
2

(1) ST ersfHiem

(2) FeiReTaIaHeg

(3) 9o Hof fasTH

@) 99 &

frefeRad § 9 &9 |1t SAfes A e
8°

(1) R RAEH IR

() &

(3) ©rT

(4) T9.U3RTH. (SARS)

= % & B9 | Qe g § gadia &
(MCTE (2 ATd C
() Awd D (4) B Td D
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109.

110.

111.

112.

113.

114

Which of the following frequency bands is not
used in INSAT/GSAT satellite communication?
(1) Ka (2 C

(3) MF (4) Ku

An inverted pyramid of biomass can be found in
which ecosystem?
(1) Marine

(3) Forest

(2) Grassland
(4) Tundra

In the following pie chart, the percentage
distribution of the expenditure incurred in
publishing a book is given —

Premotion

= Printing
Royalty

Binding > Transport

\Paper
If for a certain quantity of books, the publisher
has to pay < 22,950 for royalty, then what willbe
the amount of printing to be paid for the books?

(1) T 46,250 (2) 36,250

(3) ¥ 38,250 (4) T 42,250

Arithmetic mean of the \numbers between 1 to
156 which are divisible by 2, 3, 4 and 6 is -

(1) 76 (2) 74

(3) 78 (4) 91

Total number of squares and rectangles (both) in
the following figure is —

(119
(3) 22

(2) 21
(4) 23

- In a group 6 girls and 4 boys, four children are

to be selected. In how many different ways can

109.

110.

111,

112.

113.

114.

=1 % § $9 |1 Mgy §$ INSAT/GSAT

SYUE AR &g SUINT # 78l forar oiem 27

(1) Ka 2 c

(3) MF (4) Ku

SEHN T UF Seel fiRifire fra oiRRerfad)

o H UR T Hebar 2?

(1) T (2) =19 &7 A3

(3) 77 @ gg1

UH JKID & YHRM § BN arl &9 $T GRg

fameor frefaRad o = # faam R & -
UaR

quR
Dl 1 Ry " B Rw af Faed @
YA 22,950 8, a1 BifeT w® 29 9o =
% . . o
(1) 46,250F (2) 36,250%
(3) 38,2503 (4) 42,250%
1 ¥ 156 9% Wit & wea R G &7

S5 2,3,4 3R 6 9 Ry & 37 w9
HE BRI —

(1) 76 (2) 74

(3) 78 (4) 91
ﬁ%ﬁvwﬁaﬁmaﬁ?ﬁ(ﬁ)aﬁaﬁ
& ®

(1 19 (2 21

(3) 22 (4) 23

U 6 ASiHdl 3R 4 TP S TYE § T 4 go)
B TIT BT o | fha Ser—arerT a6

they be selected such that at least one girl should ST T {57 S HHar & wals oud oy
be there? W T S ASH! IET B
(1) 214 (2 206 1 214 (2 206
(3 210 4) 209 () 210 (4) 209
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115,

116.

117.

118.

119.

120.

When watch shows 7:45 am, the minute hand
points towards East. After 3 hours, in which
direction does the hour hand point?

(1) East (2) East - South

(3) South (4) North - East

A rectangular room is 12 meter long, 6 meter
wide and 4 meter hlgh It has two doors of size
2 meter X 1 meter each and two windows of size
1.5 meter X 1 meter each. If the rate of paint (on
the walls) is T 15 per square meter, then total cost

of painting the walls is -
(1) T 1955 (2 %2010
(3) %2155 (4) T 2055

In an election of 3 candidates A, B-and C, A gets
50% more votes than B. A also beats C by
18,000 votes. If it is known that B gets 5% more
votes than C, then find the number of voters on
the voting list, given that 90% of the voters on
the voting list voted and no votes were

illegal. :
(1) 1,00,000 (2) 81,000
(3) 90,000 (4) 1,10,000

If on a certain amount, the difference between
Compound interest and Simple interest at the
rate 5% annual for three years is T 183, then the
Principal amount is -

(1) 24,000 (2) ¥ 8,000

(3) 18,000 (4) 21,000

A die is rolled three times: The probability of
getting a larger number than the previous
number each time is -
(1) 5/72

(3) 13216

(2) 1/18
(4) 5/54
A bag contains ¥ 1, 50 paisa and 25 paisa coins

in the ratio 25 : 9 : 5. If total amount in the bag
is 2460 X, then the number of 50 paisa coins in

5. 519 w1 gar & 7:45 RErd 8, @9 fe &

116.

117.

118.

119.

120.

g3 gd 1 SR 3URT R 2| 3 HE §IE, He

B g 59 faen 1 iR guRT S 22
(1) gd (2 gd — <fayor
(3) 3o @) SR — od

U MIATDR HHT 12 AleX &1, 6 Hiex e
TN 4 AR A 2| 399 & @S TAS
28R X 1 9iR & U9 2 Rasfat ude
159w X 1 Aick & 8§ 3fe Sari w® <7
FRAM B R 15T 9y o Hex 2 O Qari
W T HRAH BT G 4T & —

M 1955% (2) 20102

) 2155% (4) 2055%

3 SHITIRI.A, BT CH UH 919 ¥, A, B9
50% ffEres alc Ur<d dHeal 21 A, C BT 18,000
del 9 # T | 3t 9% 99 @, 5 B,C R
5% 3P dIc YT SHear &, O AT GA N
£ P Fa<KT Al $ 90% ) Facawi 7 are 23

@RI IS T dIc 3y T o |

(1) 1,00,000 (2) 81,000

~(3) 90,000 ® 1,10,000

fb o & 5% affe &= | A9 af ¥ awafy
R TAT WEIRYT A &7 3= 183 T @, a
ol & -

(1).24,000% (2) 8,000%

(3) 18,0003 (4) 21,0003

U U &I i IR BFHT 1T 2 | @S IR g4
UG G 9 S$T G WK B Y WIidar
3

(1) 5/72 (2) 1/18
(3) 13/216 (@) 5/54
UF el d 1T, 50 99 dor 25 9 @ Ryad

25:9:5% JqUd H €| 3T IA F @ oA
24608, @ et § 50 U & Ryt & G

01-©

the bag is - e

(1) 1760 (2) 720 (1) 1760 2) 720

(3) 580 (4) 360 (3) 580 4) 360
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121.

122

123.

A statement is followed by four arguments

numbered I, II, Il & IV. Choose which of the ]

argument(s) is/are strong argument(s)?
Statement : - Should the rule of wearing
helmet for both driver and
pillion rider while drivinga
motor cycle be enforced
strictly?

No, each individual knows how
to protect his own life and it
should be left to his discretion.

Il Yes;,itis arule and rules should
be followed strictly by all.

IO Yes, itis a necessity as theshead
is| most sensitive/controlling
organ, it should be protected by
the helmet.

IV No, it does not ensure safety of
the head.

(1) None is strong

(2) Only I and IV are strong

(3) Only IT and IIT are strong

(4) Only I and I are strong

Study the following then answer the question —

Statement : The petrol prices have gone up

during the past few weeks.

Courses of action :

I The government should set up an expert
committee to study the trend of prices.

0 The government should immediately reduce
taxes on petrol.

It The government should advise the general
public to refrain from purchasing petrol for
few weeks.

Decide which of the suggested course of action
follows.

(1) OnlyI
(3) Only I

Arguments : [

(2) Only IT
(4) None of these

Virendra is the son of Rajendra’s father.
Rajendra’s paternal Aunt is Manju. Adarsh is the
husband of Manju and son-in-law of Prakash.
How is Prakash related to Rajendra?

121.

122,

123.

& U & GEaR] IR 7% L, IO, O &R IV v
T E| PN (@) 99 e qogm &/
gﬁ-q_

HUF : T ISR Gfbd ST T T AeH
3R feed We w 33 =l 9 @ R
BHC TEN @ IR &1 HeRaT § T
DRAMT AIfRY?

b : [ TE v fdd g @ offaq & <l
SY BT B T & TT 30 9ED
fad® = BIs 1 =Ry |

II €, 75 w2 ek Pawt & g
DS T T P B AR
II &, 98 e & i RR R
BT qe9 ddeeie / Fadas o 8
39 ST T R 71 ARG |
IV 781, 78 RR 91 gren gfifeg =8
AT 2 |

() ¢ 7% Aog & #

() Bael L3R IV 7 worqe §

@) BT I 3R M TP Forge &

(4) Badt L8R M TP Forqg &

i &1 sraas a7 us o 9av ¥ —

B : e 48 gt @ <RM I A B

C

wrdmﬁ:

I WOHR B U6 A9 AR a1 767 oo
FRY S BRIt BT waRy BT srmT Y

I WER $T UgI W R SFF 59 &% 7
=Mfey |

I TSR S GH S0 B GaAlE 37 ARy
i?@ﬁm$%§'ﬂ@a@ﬁaﬁ@wﬁ

|
?ﬁﬁmﬁﬁﬁﬁmﬁmaﬂ?ﬁ
|

(1) Faat 1 (2) Baat 11

(3) SaeT I @) 378 9 DI 7
%W%ﬁmwm%iv@eﬁ@n
A 2 | TSR HY B R R SR wer @7 <
g | U o DY waltg £?

(1) Nephew (2) Son (1) W () g
(3) Brother (4) Grandfather @) w3 4) <157
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124,

125.

126

Suppose that in a particular code, TIGER is
written as QDFHS and MERIT is written as
SHQDL, then in the same code, FROZEN will
be written as -
(1) MEYNQD
(3) MDYNQE

(2} MDEZOR
(4) EQNYDM .

In the following diagram, rectangle represents
men, triangle represents educated, circle
represents urban and square represents
government employees. Which one of the
following represents educated men who are not

urban?

m'w
12 |6 13
9 14

11
VARE Bl
M4 @ 11
39 @ 14

> A statement is followed by two conclusions

numbered I & II. You have to assume everything

in the statement to be true, then consider the.two

conclusions together and decide which of them
logically follows.

Statement : Nowadays'\parents are prepared to
pay any fee\for an elite education
institute for the perfect development
of their children.

Conclusions : I Parents have an obsessive
passion for aperfect
development of their children
through good education
institute.

II These days all parents are very
well off.

(1) Only conclusion I follows

(2) Only conclusion II follows

(3) Both conclusions follows

(4) Neither I nor II conclusion follows

124.

125.

126.

o fell fe (@re) faww ¥ TIGER @
QDFHS ! @R =M MERIT &I SHQDL 3
we foran o 8, 9@ T I (@) §

FROZEN &I 39 o8 forar s —
(1) MEYNQD (2) MDEZOR
(3) MDYNQE (4) EQNYDM

A1 R e R ¥, s gt @, Feger R
B, 37 TN B R A W wEARE B
TeRia e 2, o frafled ¥ ¥ P
RIfERT gou S Tl & § B yei o 2

8 —\
10\ 7

12 (613
9 14
i1

Yalls \

M4
@9

) 11
@) 14

U$ P & TR & ey I &R 1 Ry Ty
g | AMIHT FF § T JAS THER) B T
HIAT 2, |1 epst BT faaR wxa iy
HITY % PIFT ey SIeRT T R |
DA : JTh AT AU Tl H STH
fapra o forg/ Heim R dwrmeit #Y
ot B T BT QIR &
frspy : 1 AT W ores Rerr St @
AEEH 9§ A gl b S9¥ [QeM
g7 TR 2| . ‘
I Al il Hii—fOaT 98 3 arar
gl
(1) Baer FpY I SRV IR B
(2) Taa Fepy 1 IERYT Hear B
(3) HI =y SgERT &<d &
@ T o ey I 3R 1 & Fpd I 3rgRRoT

BT ©
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127. A statement is followed by two assumptions

128.

129.

numbered I and II. Consider the statement and

the following assumptions and decide which of

the assumption is implicit in the given
statement?

Statement : Lalita has a large collection of books
and she keeps on purchasing new
books to add to her collection.

Assumptions : I Lalita has read each and every

book that she has purchased.
Il Lalita has love and-passion for
books.

(1) Only I assumption is implicit

(2) Only Il assumption is implicit

(3) Both of the assumptions are implicit

(4) Neither I assumption nor II assumption is

implicit

Given below are two statements, one is labelled

as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Selecting the right man for the

' right job at the right pay is the

right approach.

: A wrongly selected man is a

liability.

In the above context, which one of the following

is correct? '
(1) “A’ is true but ‘R’ is false
(2) Both ‘A’ and ‘R’ are true and ‘R’ is the
correct explanation of ‘A’

(3) ‘A’ is false but ‘R’ is true

(4) Both ‘A’ and ‘R’ are true but ‘R’ is not
correct explanation of ‘A’

Some of the basketball players are volleyball

players, some of the volleyball players are

badminton players, no basketball player is a

badminton player.

Which of the following diagram represents the

above statement?
(1) 2 @
» (S

&

Reason (R)

127-@@?%“@1?{37@@“‘5[@?&@"@

128.

129.

&1 DU IR SH TeEg € TS qheRemsT @
SR TR 07 I 5 Bieeh gerom s
4 sigfifag 87
AR TE AU wuE § IR e @
fou 7 g wdedt = &
QRO < T ferar = i qRass w@dd) & sy
T TS D UL 2|
11 ST &1 Tl & fog @R ek
GRS
(o 1 gdemon sigfiRe &
(2) Faer I ydemon JfariRg 2
(@) T qauRu SfafiRa & |
@ a1 gderom R M & 1 guron
Fiafifea &
A < B Ry 0§ 3% 31 @ (A) sk
T BIBRY (R) S W F g9rar 17y 2
ST (A) 298 B & o e fdm &1 agw
T 9T W T IR B S
giep 2|
S (R) : AT AT AT AT b 2T 3|
SWIFT Ged #, =4 ¥ B G o )
(1) ‘A’ €l § ofp R =g &
(2) TEF A T R’ WE € qom R, A’ ) w9
AT §
(B) ‘A’ TTer = AfbT R wd 2
@I AT R A ¥ A R, AT
el ey TE 2
DAl S 58 Recirdl dretate) 3 9 Reerd
€, dieilsicl & 55 RaeTel ssfies @ & fRaor
%, Bl FT P o RSl se¥eT @y

Rl & &
SUYR HIT B

r=foles % 9 o 91 Ry
TSR Bvar &7

D (Z)O@
(3)@ (4>@D
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130.

131.

132

133.

134.

135.

Each of the digits 1, 2, 3,4,5,6,7, 8and 9 is
represented by a different letter in the following
figure, such that each of “M + N + P”, “P + Q +
R”,R+S +T”and “T + U + V” is equal to 13.
Which digit will ‘R’ represent?

MNP
Q
R ST
U
‘T
12 () 4
@) 3 4) 1
India has signed Memorandum  of

Understanding (MoU) in March 2021, with
which of the following countries on cooperation
in the field of Disaster Management, Resilience
and Mitigation?

(1) Bhutan (2) Sri Lanka

(3) Bangladesh (4) Nepal

Which player was the Indian flag bearer at the
closing ceremony of Tokyo Paralympic2020?
(1) Devendra Jhajharia

(2) Tek Chand

(3) Sundar Singh Gurjar

(4) Avani Lekhara

Who has been granted International Eni\Award
2020?

(1) Amit Shah

(2) CN.R. Rao

(3) Ramesh Gandhi

(4) Satyanarayana Reddy

Italy won the UEFA Euro-2020 by defeating

which country in final?
(1) Denmark (2) Portugal
(3) Germany (4) England

Who among the following is the author of the
book ‘Marathon War : Leadership in combat in
Afghanistan’?

(1) Jeffrey Schloesser

(2) Chris Mooney

(3) Samuel Moyn

(4) Carter Malkasian

130.

131.

132.

133.

134,

135.

1 s W a1 3Rl @Y Siat 1,2, 3, 4, 5,
6,7, 8 3R 9 ¥ ysfia fhar mar €, &) 39 yoR
2 &% UAF “M+N+P”,“P+Q+R”, “R+S
+T IR “T+U+V”, 13 & &R €| R fra

3iH B gaffa owar 27
M N P
Q
RST
U
v
(1) 2 (2 4
)3 41

A 2021 H, MRT A fA=ifed § 9 9 2o B
ARf JATUST YE=H, FE1adr 3R IMT B &5 d
HASIAT S99 (TAHRNY) TR B {5

(1) qer= (2) =iieier

(3) g™ (@) Ut

Sl ORIl 2020 @ 9HUN §URIE |
DA RIATS! IRAT &% dreeh g7

(1) <avs ST

(2) 2% dg

(3 gz Rig o

(4) 3rafy oraxT

RIS U -3raTs 2020 8 yeM fahar T
2°? '

(1) aifeg_en=

(2) I HsR. X

(3), A3 IefY

(8) IR NSSl

geoll o g QR P BB JUHY JI—2020
BIgTel SiI?

(1) I 2) g

(3) ST (@) Saivs
Fifed #§ 9 ®F WM R : ceIRY 34
DT 39 AGMRAA S TKIS BT dd
2? )
(1) B! TARR

(2) fr

(3) IRe AR

(4) IR AABIRIEA
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136.

137.

138.

139.

140.

Who is the author of the book “Sanskriti Ri
Sanatan Deeth”?

(1) Dr. Satyanarayan

(2) Arjun Dev Charan

(3) Aidan Singh Bhati

(4) Bhanwar Singh Samaur

Rajasthan Jan Aadhar Authority Ordinance
came into force on -

(1) 11 January, 2021

(2) 18 December, 2019

(3) 11 January, 2020

(4) 18 December, 2020

Read the following 'statements about Supply

Chain Resilience Initiative (SCRI)— :

(1) Inthe context of International trade, supply

- chain resilience is an approach that helps a

country to ensure uninterrupted supply of
import in an\unexpected situation.

(i) This is an initiative of five countries, India
is one of them.

Choose the correct code -

(1) Only (i) is true

(2) Only (ii) is true

(3) Neither (i) nor (ii) is true

(4) Both (i) and (i) are true

Who among the following won silver medal in

Tokyo Olympic 20217 Select the correct answer

from code given below -
(A) Ravi Kumar Dahiya

(B) P.V. Sindhu

(C) Bajrang Punia

(D) Mirabai Chanu

Code -

(1) (A) and (B) (2) (B) and (C)

(3) (A) and (D) (4) (A) and (C)
Rajasthan government has launched an app to
help college students with digital academic
materials. What is the name of this app?

(1) MyEducationLo app

(2) MyClassLo app
(3) MyBookLo app
(4) MyCoachingLo app

136.

137.

138.

139.

140.

IX® "G¥Hfd I T d5” $ o 3 2
(1) 1. FITRAIY
(2) Ff7 2T TR
(3) arga Rig W
(4) = Rz 9mR

T O MR W@ e @

g3 —

(M 11 S99, 2021 31

(2) 18 feHeR, 2019 &1

() 11 99,2020 &

(4) 18 fa¥sR, 2020 @

¥TJIC #EeTT Sl Uae (SCRD) & IR ¥

(i) IS =R ey o ITgfel siger
THC TP SEHT 2, 3w 2w @)
ol s Rufy & omug & Ry
A9 1 GARTT v § 778 B £

(i) IE 9 < P B UEA L, UG 9 R
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wel B gAY —

() 33 ()T &

() BaerGi) ¥

@) 7 2 @) 3 T & i) v 2

@) THIG) 3R (i) T ¥ |

F=faRes 4 9 39 S sefus 2001 §

RreTe wee v w7 R ™ o & & o

SR BT Y19 DIy — -

(A) 34 FAR Tfem
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(D) IRIETE a1

R_
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@) (A) TE (D) @A) w@ (©)
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141.

142,

143.

144.

“Mission Niryatak Bano” campaign to promote

aspiring exporters is launched by —

(1) Department of Industries, Government of
Rajasthan

(2) Department of Industries, Government of
Rajasthan and RIICO

(3) Rajasthani Foundation and RIICO

(4) RUCO

Tianwen-1 is -

(1) Space Station of China

(2) Moon rover vehicle of China

(3) Inter Continental Missile of China

(4) Spacecraft of China

Match list-I with list-II and identify the correct

answer from the code given below —
List-I

(A) Bhavina Patel

(B) Nishad Kumar

(C) Harvinder Singh

(D) Devendra Jhajharia
List-II

(1) Archery

(i1) Javelin throw

(1ii) Table Tennis

(iv) High jump

Code -

(1) A-iii, B-iv, C—i, D~ii

(2) A-ii, Biii, C, D-iv

() A-iv, B-ii, C-iii, D

(4) A-i, B-ii, Ciii, D-iv

Who among the following have got place in
TIME 2021 list of 100 most influential people?
(A) Narendra Modi

(B) Mamata Banerjee

(C) Adar Poonawalla

(D) Manjusha P. Kulkarni
Correct answer is -

(1) (A), (B), (C) and (D) are correct
(2) Only (B), (C) and (D) are correct
(3) Only (A) and (B) are correct

(4) Only (A), (B) and (C) are correct

141.

142.

143.

144.

a1 fAeE fiae s vafda fear war & —

(1) ISIT AT, TSI WRBR gRT

(2) IANT AT, VOTRIM WR&GR U§ Rapy
(RIICO) ERT

(3) TR BISUSYH U9 Rl (RIICO) ERT

@) R (ROCO) N

fa=eT-1 8 -

(1) 919 &7 TR I

(2) T FT FEAT AR A
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(A) #IfA=T U

(B) fue AR

(C) TR e

(D) <ds smsIRAT
bl |
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(i) I PP

(iii) 29T efF

(iv) S g
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(1)*A—iii, B=iv, C~i, D5ii
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(4) A, Bii, Cii, D-iv
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HINE SR UIuel H e T fpam 27
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(B) HHdT SIS
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(D) wopeT . oot

el SR © —

(1) (A), B), (C) 3R (D) T &
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145.

146.

147.

148.

149.

150.

‘Hunger Hotspots Report’ was released on 23
March, 2021 by -

(1) World Food Programme (WFP)

(2) Jointly by FAO and WFP

(3) Food and Agriculture Organisation (FAO)
(4) UNICEF

Who is Najib Mikati?

(1) Prime Minister of Malaysia
(2) President of Egypt

(3) President of Kazakhstan

(4) Prime Minister of Lebanon

India’s first farm based “KUSUM” solar power
project was commissioned in which village of

Rajasthan?

(1) Chitalwana (2) Chanod
(3) Rani (4) Bhaloji
“NABIMG” is -

(1) A variety of Maize
(2) A variety of Barley
(3) A variety of Millet
(4) A variety of Wheat

Why Dholavira (Gujarat) was in news recently?

(1) Declared as Tiger Reserve

(2) Recently included in UNESCO’s world
Heritage site

(3) Included in the list of National Parks

(4) This site was hit by terrorist attack

President Ram Nath Kovind granted assent to
which Constitutional Amendment Act on 18
August, 20217

145. 23 7/, 2021 B ‘FR Efewie Ry s

146.

147.

148.

149.

150.

ERT SN &t g7

(1) fava @rer #rdsw (WEP)

(2) (FAO) 7o (WFP) S & gRT @IS wu %

@) @ ik S wveT (FAO)

(4) T¥% (UNICEF)
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(2 fra & wrcufy
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(3) ¥t

A U ® —

(1) 5T @ v fer

@) St 3 P, fe
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it far
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(2) =oite
(4) Jrensh
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(3) 108" 4 105" (3) 1084t (4) 1054
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